@[radians]

Number of LO towers

10*

10

102

10

0 1 2 3 4 5 6

10

E [GeV]

10

0 18

20

hEtaPhiL0O L2 tower hEtaPhilL2
Entries 5747 Entries 5747
Mean x  0.02713 - 3 Meanx  -0.0018
Meany  0.08443 2 = '—|Meany -0.007716
RMS x 0.5664 g =, RMS x 0.4657
RMSy 1.789 IS RMSy 1.809
= 2= o] o 0
ofs747] o
0 0 0
1 T 2
= 10
0
= 3
-
Pill=—2 W = 6
e 4
2 =
:I—-= 2
3 =
- ——= e e — o T . o
-1 -08 -06 -04 -02 0 02 04 06 08 1
n
hNumberOfTowersL0 | N um b er Of L 2 towers hNumberOfTowersL2
Entries 5747 Entries 5747
Mean 1.011 B Mean 27.5
: RMS 0.1042 RMS 14.21
Underflow 0 102 . Junderflow 0
.- ERRE - - | Overflow 1 Overflow 2
: : 10
: E 1
7 8 9 10 0 10 20 30 40 50 60 70 80
hEnergyOfClusterL0 | Energy of L2 cluster hEnergyOfClusterL2
Entries 5747 Entries 5747
Mean 775 USSR OO OO OO Vean 3601
RMS 2.243 3 RMS 0.6414
Underflow 0 10 E Underflow 0
Overflow 18 Overflow 0
X2/ ndf 86.73/43 X2 I ndf 32.52/22
Constant 8.587 + 0.064 Constant 12.73+ 0.08
Slope -0.4438 + 0.0076 102 Slope -1.716 + 0.022

E [GeV]



[ Invariant mass hinvMass
Entries 5747
180 T e e e T e e
r B . Mean 9.038
160 .o ooonlh ... . [ IO RMS 1.612
E : Underflow 0
140 =~ - R - -5 - - e e e Overflow 4

120

100

80

60

40

20

14 16 18

20
Mee [GEV/C?]

[ Number of hot towers

Opening angle hCosTheta
Entries 5747
200 H
. Mean -0.5523
180 i--1RMS 0.287
+ |underflow 0
160
. Overflow 0
140 ------ Fenees
120 S UOT UPOOS SOUUL OO SOOOS O S
100 A (AR TP P
o0 [ .
60 [, i e
40 | - cen e beeee
20 [ ... ......
0 1 i 11l
-1 -08 -0.6 -04 -0.2 0.8 1
cos®O
| L2 processing time | hTime
Entries 5747
: Mean 299
[57070) NS S IS SUNUN | IS SR SR RMS 65.75
[ Underflow 0
[ Overflow 597
400}

300

200

100

2 F T
[ o .
2 25— - ..
St :
s [ :
< B .
I B PP PERRRE P PRPRRRRRS PRI R A
g [ :
o o .
E :
=} o .
€15 ;
10 SRR RSP
PYRFI [N S AU S T NN SN T BTN S S T
2000 4000 6000 8000 10000
events seen
LO-L2 rejection rate L0L2RejectionRate
Entries 5747
5000 [+ O O SO SRS N e R
RMS 0.04338
Underflow 0
4000 [ - mgme el e et e b e Overflow 0

3000

2000

1000

0 IIIILLI‘|J'IiIIIIiIIIIiIIIIiIIIIiIIIIiIIIIiIIIIiIIII

1 2 3 4 5 6 7 8 9 10

0 50 100 150 200 250 300 350 400 450 500
time [ps]
[ Delta Phi | hDeltaPhi

Entries 5747
240F------- e EERREEEEES [RRRERREER LARRRRRREE -+ {Mean 2.358
220F ‘- {RMS 05147
200F Underflow 0
180 : Overflow 0

160F
140
120
100F
80
60
40

20
0 11 1 I 11 1 I 11 1 I 11 1 I 1
0 0.5 1 15 2 25 3
A@[radians]




[ Towerldl 1-1600 |

.......................

...........

il
[
600

200

400

[ Tower Id1 1601-3200 |

800 1000 1200 1400 1600

hTowerldla [ Tower1d2 1-1600 | hTowerld2a
Entries 2076 Entries 1960
.......................... Mean 830.2 - Mean 818.8
RMS 446.4 10 r : : : : RMS 4507
-------------------------- Underflow 0 = . . . . Underflow 0
.................... .. ||Overflow 0 | Overflow 0

2

il
| ]
400 600

‘
AN

800

12f-eeiee

................

10 b

N

(NI
N

| Tower Id1 3201-4800 |

1000 1200 1400 1600

21 SRR T

tof -

softld softld

hTowerld1b [ Tower 1d2 1601-3200 | hTowerld2b

Entries 1844 Entries 1870

Mean 2387 MR ] e e SR R R P PP PR Mean 2406

..... T TR U |- V1 4435 RMS 456

: : : Underflow 0 S e A S Underflow 0

______________________________ Overflow 0 R P Overflow 0
----------------------------------- [} I T I T L I T S

6
HEI | | 1 M I\I‘I R URIRLR] IR
| ] | | N || 1 R e T
1800 2000 2200 2400 2600 2800 3000 3200 1800 2000 2200 2400 2600 2800 3000 3200

softld softld

hTowerldic | Tower 1d2 3201-4800 | hTowerld2c

Entries 1827 Entries 1917

..... R [ V=0 4073 L Mean 4012

RMS 476.9 100..... e ) IO SRR SR RMS 466.3

Underflow 0 - H N N Underflow 0

Overflow 0 : Overflow 0
< e

3400 3600 3800

4

4000

N
I
4200 4400 4600 4800
softld

|
2]
|

o

3400 3600 3800 4000 4200 4400 4600 4800

softld




VPD vertex hVpdVertex BBC vertex
Entries 5747
300f—----eeees Feaeens e . e i--] Mean -14.31
: . . : . . RMS 18.78 400
Underflow 2 o
250 e e R Overflow 0 E
X2 I ndf 795.1/47 350
Constant 236.7+ 3.8 300
200—---seeeiteee g Y Mean -16.9+ 0.3
i +
Sllgma. 17:07_ 0.15 250
150 — ..o

100

200

150

100

hBbcVertex

Entries 5747

Mean -0.7493

________ RMS 11.45
Underflow 15

Overflow 39

X2/ ndf 61.55/45

_____ Constant 409 + 6.7
Mean 0.3135 + 0.1477

Sigma 10.99 + 0.10

5O --ireeeecio- (I -
] e Y TR
-q.OO -80 80 100 -q.OO
Zvertex [Cm] Zvertex [Cm]
[_ZDC vs. VPD vertex | pZdcVpdvertex |_zDC vs. BBC vertex_ | nZdcBbeVertex
Entries 5747 Entries 5747
-§100 Mean x -14.34 5100 r Mean x-0.7475
o Meany 20919 3] Meany 2922
< 80 RMSx 187 = 80 RMSx  11.42
2 RMSy 2374 e RMSy 2376
o 60 o[ 26] o 2 60 o[ 26] o
N 5701 0 N 195651 37
Q 40 8] 0 Q 40 o 16] 2
N 2 N 25
20 20—
0 20 ob- 20
-40 -40 =
10 C 10
-60 -60 -
-80 , ° -80F- >
C : o <. : : : : F : : : : R : : :
e | ST I NP T IS PRI PN PP O U o)) STAPIF PPN I AP WA SR B TP NP AU
-900 -80 -60 -40 -20 0 20 40 60 80 100 -900 -80 -60 -40 -20 0 20 40 60 80 100
VPD z-vertex [cm] BBC z-vertex [cm]
Emg/E cluster (1) Etrig.overEcIusterl E[I'ig/E cluster (2) rEtrigIOverEclusterZ
Entries 5747 200 : : : Entries 5747
Mean 0.8125 o : : + [Mean 0.5816
250 RMS 009224 180+ oo Freeeeeeees peeene e [EEREEE-EEREE i--{rRvs 0.1287
Underflow 0 160 E_ ___________ ‘ ____________ . A . ____________ . i Underflow 0
Overflow 0 L . Overflow 0
P00 ] R LLE b EEETTL - PERTEE PEPEEEEERTE B CEEen 140F S R LEL ETErrrrrr
120F :
150 100f ;
10 R RIS S
100 F :
60[—------e- P REEERE-EREED
50 A0p-eree R N
20~ beded o L
O 1111 i 1111 i 1111 i 1111 i 11 1111 I 1111 I 1111 I 1111 I 1111 0 :I 111 i 1111 i 1111 i 1 11 I 1 1 I 1111 I 1111 I 1111 I 1111 I 11
0O 01 02 03 04 05 06 07 08 09 1 0O 01 02 03 04 05 06 07 08 09 1

4



